
 MEE Grading Standards  
 

 
6 A 6 answer is a very good answer.  A 6 answer usually indicates that the applicant has a 

thorough understanding of the facts, a recognition of the issues presented and the applicable 
principles of law, and the ability to reason to a conclusion in a well-written paper.  

 
5 A 5 answer is an above average answer.  A 5 answer usually indicates that the applicant has a 

fairly complete understanding of the facts, recognizes most of the issues and the applicable 
principles of law, and has the ability to reason fairly well to a conclusion in a relatively well-
written paper. 

 
4 A 4 answer demonstrates an average answer.  A 4 answer usually indicates that the applicant 

understands the facts fairly well, recognizes most of the issues and the applicable principles of 
law, and has the ability to reason to a conclusion in a satisfactorily written paper. 

 
3 A 3 answer demonstrates a somewhat below average answer.  A 3 answer usually indicates that 

it is, on balance, inadequate.  It shows that the applicant has only a limited understanding of the 
facts and issues and the applicable principles of law, and a limited ability to reason to a 
conclusion in a below average written paper. 

 
2 A 2 answer demonstrates a below average answer.  A 2 answer usually indicates that it is, on 

balance, significantly flawed.  It shows that the applicant has only a rudimentary understanding 
of the facts and/or law, very limited ability to reason to a conclusion, and poor writing ability. 

 
1 A 1 answer is among the worst answers.  A 1 answer usually indicates a failure to understand 

the facts and the law.  A 1 answer shows virtually no ability to identify issues, reason, or write in 
a cogent manner. 

 
0 A 0 answer indicates that there is no response to the question or that it is completely 

unresponsive to the question. 
 
  



 MPT Grading Standards  
 

 
6 A 6 answer is a very good answer.  A 6 answer usually indicates that the applicant has a 

thorough comprehension of the practical and academic aspects of the task, understands and 
synthesizes the relevant factual and legal materials, and uses them to write a legally supported, 
well-written, responsive product in the time allotted.  

 
5 A 5 answer is an above average answer.  A 5 answer usually indicates that the applicant has a 

fairly complete understanding of the practical and academic aspects of the task, understands 
and synthesizes most of the relevant factual and legal materials, and uses them to write a legally 
supported, reasonably well-written, mostly responsive product in the time allotted. 

 
4 A 4 answer demonstrates an average answer.  A 4 answer usually indicates that the applicant 

has a fair understanding of the practical and academic aspects of the task and understands 
enough of the relevant factual and legal materials to incorporate them into a relatively 
satisfactory, albeit less than completely responsive, product in the time allotted. 

 
3 A 3 answer demonstrates a somewhat below average answer.  A 3 answer usually indicates that 

it is, on balance, inadequate.  It shows that the applicant has a limited understanding of the 
practical and academic aspects of the task, does not understand or synthesize some of the key 
factual and legal materials, and thus is unable to incorporate them into a satisfactorily 
responsive product in the time allotted. 

 
2 A 2 answer demonstrates a below average answer.  A 2 answer usually indicates that it is, on 

balance, significantly flawed.  It shows that the applicant has only a rudimentary understanding 
of the practical and academic aspects of the task, has failed to grasp and synthesize most of the 
relevant factual and legal materials, and thus has not produced a useful written product in the 
time allotted. 

 
1 A 1 answer is among the worst answers.  A 1 answer usually indicates a failure to understand 

the task or how to accomplish it, and an inability to understand and synthesize the factual and 
legal materials and incorporate them into a minimally acceptable written product.   

 
0 A 0 answer indicates that there is no response to the question or that it is completely 

unresponsive to the question. 
 


